
Important Warning!

Age: 3 Years +
Maximum user
weight :25Kg

1. Not Suitable for children under 36 months. 
Choking hazard due to small parts

2.  For family and domestic use only
3.  Not to be used in traffic
4.  Adult assembly required
5. Warning! Protective equipment should be worn
6.  This toy has no brake
7

8. This toy contains batteries that are 
non-replaceable

.  This toy is unsuitable for children under
3 years due to its maximum speed.

Please keep this manual for future reference as it contains important information.
Before first time use, charge the battery for at least 8-12 hours, no more than 20 hours.



Below 40OC

DC 12V 4.5 AH 
1128*671*524 mm

*1

Input: 100-240V, 
50-60Hz

3+ years
Under 25Kg

PP

Suitable age:
Load Capacity:

Material:

Charger:

Battery:

Optimum
Product size:

Temperature:

Charging time:

Fuse:Output: 12V 700mA

8-12 hours,
at most 20 hours

F 6A,Self-resetting

!

 1

Page 1

Page 2

Page 3

Page 4-6

Page7-10

Page 11-12

Page 13-14

Page 14

Page 15

Operate



2

 2

35

Remote
control

4

Bumper

S

rearview
 mirror 

13 14

15 16

17 18

19 20

Spanner

1

Instruction
Manual

21

training 
wheel

1pair 1

2 2

2

1 2

6 4

1set
4

2

megaphone



 3

To
ol

s 
R

eq
ui

re
d



 4

1. Installation of auxiliary wheel

To turn the body, remove the 
screw from the rear end of the 
body, and hold the auxiliary wheel 
in a screw.

First insert the bumper into the bod
Remove the gasket and nut on the axle
Install front wheel: Place a 10# gasket on the iron shaft, place a wheel, place 
a gasket, fix it with M8 nut, and finally clamp the wheel core cover.
Install the rear wheel:Place a driving wheel on the iron shaft, place a 
10#gasket, fix it with M8 nut, and finally clamp the wheel core cover. 
Install bumper: place bumper card in front of car body.

2.Install t wheel & driving wheel & bumper



The back of the seat hook into 
the body of the card slot.

Screw two M4 x 12 screw seats.

 5

1.Dock the docking plug before installing
the seat
2.Note: power plugs cannot be operated
in reverse

4.Connect the power supply

6.Install steering wheel

Battery Safety Warning!
Non-rechargeable batteries can not be recharged.
Batteries can only be recharged under adult supervision.

  Rechargeable batteries should be removed from vehicle before charging.
Different types of batteries or old and new batteries can not be combined.
The battery should be placed in the correct polarity.
Exhaust batteries should be removed from vehicle.
Power terminals must not short-circuit.
Dry batteries are not available.

5

As shown in the figure: first dock the plug-in, 
then install the steering wheel on the rotating 
rod, and then fix it with 5X35mm round rod 
and M5 nut;



 6

Before installation, connect the plug-in. 
Insert the hook on the mirror into the holes on both sides of 
the body.

7

8

Insert the mirror 
directly into the body.



How To Operate Your Vehicle

Step 1: open the battery cover on the back of the remote control and load into  two   
AAA(1.5V) batteries; (dry batteries are not available in this product) Step 2: turn off 
the main power switch on the car;
Part 3: hold down Forward  and Back keys at the same time, (note that hold down at 
the same time) when the Speed display flashing, the main power switch on the car, 
the Speed display red light to stop flashing, code success; Key description: Speed 
key for speed regulation, each time change a 
speed,Speed key on a red light for low speed, two red lights for medium speed, 
three red lights for high speed;

a. Press button Forward and the car moves forward;
b. Touch and press Back  , the car back;
c. Press button Speed display to adjust the speed of the car.
d. Touch and press Left key . The car turns to the left.
e. Touch and press Right and the car turns to the right;
f. Brake for the brake key, touch the car to maintain the brake state, red
indicator all flashing, and then touch the brake state contact;

This product may have remote control priority (depending on product 
configuration): When the remote control is operated, the pedal 
switch of the product is invalid; when the remote control operation is 
stopped, the pedal switch of the product can be used.      

7



25

!

 8



1. Turn on the power switch first.
2. Forward

● Press the“Forward and Reverse switch” to the “Forward”position.
● Press the pedal.
● The vehicle drives forward.

3. Stop
● Remove foot from the accelerator pedal to stop the car.

4. Reverse
● Press the “Forward and Reverse Switch” to the “Reverse” position.
● Press the pedal.
● The vehicle drives backward.

 9

Matching function



HowToO  era幅 Your Vehicle 

① interface: insert USB terminal, connect audio source, can play audio;
② TF card Jack: insert TF card, can play audio;
③ MP3 interface: through the data line can be connected to other devices and play audio;
④ Volume-/ early education English: long press this key, volume is reduced; touch this key, play
early education English;
⑤ Pause button: touch this button, pause the audio playing;
⑥ Volume / music keystroke: long press this key, volume increase, touch this key, play music;
⑦ Storytelling button: touch this key, play the story;

⑧ Voltage display: the value on the display can be used to determine whether the battery is
charged or not.

(6)How to use the steering wheel button

10

Horn buttonMusic button

p     

8



 11

!



!

!

 12

1. Find the charging input socket below
the seat.

2. Plug the charger port into the input
socket.

3. Plug the charger plug into a wall outlet.
The battery will begin charging.



 13

25



 14



 15


	空白页面
	空白页面



